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1.

Which of the following statements is correct 7

{(f) ‘Dhauladhar Range’ branches off from the Great Himalayan Range near
Badrinath

(fi} The Pir-Panjal range separates the drainage of the river Spiti from that
of the river Beas.

(iéf} The Zanskar range is the easternmost range which separates Spiti and
Kashmir from Tibet.

{iv) The ‘Gumrang and Sholarang' passes comnect the basin of the river
Chandrabhaga with its basin in Tibet.

{A) (iv) only (B} (1) and (ui)

(C) (i) and (iv) (I (i) only

fa=fafma 4 4 ¥ w53 wf & 7

(i) ‘diemem gEaaEn’ S ymEn wEg & g i e vEaa @ st §

(i) d-dame Smit wifa 927 & = e o= 9 4 s wel §

(éii ymiemy Aol wed gEl A § S =i sy sy w feem 8 smm o wm b

(iv) T S S’ 7 s AE % afen W e @ gwd afew @ Wed )

(A) (iv) =ew B) (i) #R (iiey

(€ () # (i) ) (i) e

Select the fncorrect combination from the fn:iﬂu:rwing ;

{t) Bahadurpur and Bandla ranges ~.* Demi valley

(ti) Markanda and Dharti ranges : Dun and Sproon valleys
(fif) Chandertal lake :  Kunzam range
(fv) Source of Parvati river :  Mantilai lake
(A) (1) and () (B) (i) only

() (D Uit and. (in) (D) (i) only

fafen & & T w4e 99 #ied

(i) wEwTy i s gETEEn B i

(W) TRET S uTe TeEEmEen . 7 3 o e
(iti) <A Fe ' o owmEm I

(i), T e G . e =im

(A) () & liw) (B) (i) Fad

() (D), i) 3 (i) (@) (if) F=3

TBC : 21/P1—A 2
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3. Which of the following statements is correct 7
(i) According to G.A. Grierson, Kehluri is an offshoot of rude Punjabi.
() Kinnauri-Jangram mixture is the dilect used in Rakcham and Chitkul
villages of Sangla Tehsil.
(iii) The dialect spoken in the Rampur Bushehr, Kumarsain and Kotgarh regions
and in the nearby parts of the Satluj valley is called Kochi.
{iv) According to Dr. Bholanath Tiwari, Pahari language originated from "Dardi

and Pishchi'.
(A) (iv) only (B) (i) only
(C) (i), (i) and (i) (D} (i) and (v} only

frfafos § ® =99 F99 B ¥
() wu firedr § aTAn wEEl s\ TEEl Rl UR oI ¥
(i) Freirl-vmm fasm witen wediE & Twew o fawmm TEAE TIE €9 A
a1
(i) T TR, FEACEA AR Freg A4 @ wnes o # sEem e 1
= arE Al wiew weel 5 A\ X

() =1 ey frErdt & ermR, TEEl v Wity 2 oo et 2w B
(A) (iv) whae (B)  (ii#) Fee
(C) (@), (i) N (i) (D) Adl)#m (iv) Fam

4. Select the incorrect statement from the following !
(i) The ‘Khunds’ are the martial people of Kangra.
(if) The most popular dance'of Kinnaur is ‘Kayang'
(iii) *“Burah’ is a famous group dance of Mandi.
(i) The Buddhist peopleiof Lahaul-Spiti and Kinnaur perfurrn mask dances.
(A) (G and ) (B) (i) and (iv)
(CY (& and (EEE) (D) (i) only
Fisfaten § @ o S99 #1999 S0
W ‘s = 8 oA
Gy el = w Sefm T wEmt #
(i) = T wiEe I T R
ﬁvJEﬂﬂlﬁi-ﬁ?ﬁlﬂnmﬂﬁﬁ:i‘mﬁmmﬁaﬂﬁ%:
(A) (i) 3 (i) (B) (i) 3 (i)
(C) (i) 3 (iis) (M) (idi) =

TBC : 21/PI—A 3 PT.O.




{

5.  Which of the following statements about ‘Jal-Jeevan-Mission' is not correct 7

() In H.P. it is targeted to include every rural houseshold in providing
‘Functional Household Tap Conneection (FHTC) to every family by June,
2022.

() Out of 17.28 lakh houscholds, 15.80 lakh were provided FHTC upto
December, 2021,

{ief) In Himachal Pradesh 91% of the households have been provided with
domestic connection against a national average of 45.50 perfcent.

(v} Himachal Pradesh places at Bth position in the country for previding FHTC.

(A) All of the above (B) None of the ﬂbﬂvé

(C} (i) and (i) (D} (i) andANy) '

"S- -t oA # fefafma o8 e e oAl b7

() fewreed ww § 97, 2002 W% WA WA R CREEE 9E TE STRE
(TRTEAH. ) =+ § wF v ufEn 1 omfs w3 . e B

(6) 17.28 = ufEn & 4 15.80 ?ITEI uitar] & g, 2021 9% TRUE.ALHL TR

fFm )
(i) fesmaer wam Ao tq witani w1 win F99 w1 5 T R, wats aeh st
45.50° wimem &y
(iv) Vemras mn wRre A v W & o d i F aned wm owm B
(A) 3w at (B) 3I7F A # w5
(C) () I (i) @) (i) 3 i)

TBC @ 21/P1—A 4




6. Select the correct statements from the following :

{i) Supreme Court of India has allowed the State for silviculture green felling
of three species on experimental bagis.

i) Forests in H.P. cover an area of 37947 sq. kms of total geographical area
of the state

{iii) In H.P. presently 30% of the total geographical areas support forest cover.

{ivr) The aim of the forest department is to enhance the forest cover in the
state to 35% of its geographical area by 2030,

(A} (i) and (iv) (B} (i) and (i)

{C) (), {ii) and (i) (D} Nonedf these

freferfae # & Wl F9A & =W wEY

(i) WG % wEt =EEE A s aEn WO W e gt # e
e wer W armi & R

(i) Tomram ww # =9 T d Ee s 6W % 37947 @ feemis ® AW W
Fal Fd ¥

(iid) AT TR A A e e G W 30% T et W A wam

(j) 9 TEMM W ERET 2030 TF T H W9 & # 35% WeifEE 59 O 99

1]
(A) (eid) 37 (i) (B) (i) 30 (i)
(C) (z), (i) 3T Gid) (D) = | wE

TBC : 2UPI—A 5 PT.O.
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7. Match List-1 and List-IT and select the correct answer from the codes given
below | '
List-1 List-TI
(i)} Total geographical area of H.P. (@) 55.67 lakh hectare
(i} Total area of operational holding (b) 495 lakh hectare
(iff} Area operated by number of farmers (¢} .95 hectare
{fv) Average holding size () 9.97 lakh
{e)} 9.44 lakh hactare
Codes :
@ @ (@) Ged
A) o) &) @ (o
(B}  la) (e} (&) (d)
(C) (@) fe) ) (c)
I da) (dy (B) (e)
a1 it Tl W g Wit el A B o we @ o s oW e Wiy

-1 -1
(i) fer=e w@w = wa Wifns d9ws Y (o) 55.67 T iR
(i) oftsmem =@ % ww dwws (h) 4.95 ¥rE I
(iif) fawmel #t dem & wofem, g (€} 0.95 T
(i) raa @fegn smn (d) 9.97 @

e} 9.44 T TN
@i -
(0 Gy (i) )
(A e} &) &) o)
(B) ° (a) {ebMe) ()
(G lad ied (d) (o
D {a) () (&) (c)

TBC : 21/PT—A 6
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8.

Which of the following statements is nof correct 7

(i) The foodgrain production in 2020-21 in H.P. was 15.28 lakh M.T,

{if} The production of potato in the year 2020-21 in H.P. was 1.97 lakh M.T.

(iif) The production of vegetables in H.P, during the year 2020-21 was 13,61
lakh M.T.

(i) The target of foodgrain produetion in H.P. for 2020-21 was 16,35 lakh metric

tonnes.
(A) (i) only (B} All of these
() None of these M (i) and (iv)

fretfafias & @ <o s w8 6§ 7

() 2020-21 H femrem w2w § @E0S SOES 1528 W WiEE A @1

(i) foores WM H wd 2020-21 § o W IR 197 T WiEw I A1)
i) forae W § wfenl w1 SeEe o¥ 2000-21 F W 1e41 TE wifgw o

il

(i) Toomaw wew § @ TR w1 | 2020-21 @ 0N 1635w Hifgw T
o

(A) (i) Fam (B) # T

(C) T8 4 = (D) (i) &K {iv)

Which of the following statements about tea, production in H.P. is correct ?
({3 There are 5900 tea growers in the state.

{if} Total area under tea cultivation in H.P, is 2500 hectares

(i) In 2020-21 tea production;in HP. was 11.45 lakh kilograms.

(i) Small and marginal farmers are provided agriculture inputs on 50% subsidy

IJ.I:'I.EIE-.
(A) (b, Aighand (rix) (B) (i) only
(C)All of these (M (£}, (#id) and (v}

fomrem i @ =@ s & oww f Fretaies § @ S s oAl ¥ 2

@) T3 ¥ 5900 =@ sRF ¥

(i) fouram won & W@ w1 @d F owl ww d9wa 2500 R b

iigd) 2020-21 & fewrmm wWw f 99 FOEA 1145 7@ FFewm oA

(jv) B ot Tam fEwe oS0 whEEt # seR W FN TR wE oA e b
(A) (5}, (i) S (idd) (B) (i) $&d

(C) 3 =t (D) (&), (Edd) 3 Liv)

TBC : 21PT—A T P.T.O.




10. Belect the incorrect statements from the following :

{f] H.P. has been assessed second top performer in terms of Human Resource
Development and Public Infrastructure among Hill States during 2020-21.

(it} Bilaspur district has been rankéd at number one on the basis of District
Good Governance Index (DGGI-2020,

(i) Shimla district ranked fifth in DGGI-2020.

(iv) Hamirpur has improved its position to the fourth in terms of Transparency
and Accountability Index,

(A) All of these (B) (i) and (i)

(C} (£} and (i) (D) (2iE) and {iv)

frefafan # 7 Tom F99 w999 i

() 2020-21 & WA St U & Wie o dane s o aefafe et
@ F a4 foome wiw w ot O wviesat = oaewise S o §

i) foen gomes quwis (Erfiag)-2020 F s W fEemy S Tee
W T TR

(if) Ereteftamg-2020 # fomen foen o9 =@ | =

(i) TR ¥ el SN TEEed gawEm o ome B e oot feafy F

gum fvam ¥
(A) ¥ |99 (B} (i) AT i 3
(C) (i) 3 (if) (D) (i) 30 Yiv)

11. Select the correct statement/s about banking in TL.P. :
{t} As per 2011 census, the average populition per branch in the state was
405689,
(fi) The state hae a network of 4492 bank branches.
(iid) Shimla is the only urban'centre in the state classified by RBI.
(tr} PNB has the largest network of 530 branches in H.P.
{A) Nonedel these (B} (i) only
(C) i) and G only (I All of these
o= v A A R om § wf sevwe o S
(M 2017 W W ® aER, T whi v stew weeeEr 4059 w1
(i) T H 4427 i v W A= B
(i) Forien. = @0 o wed @y ¥ R arvhtemd g wifge R o &
Gv) feom=m w5 § o woss0 vmmed w1 ool wm GeEw §
(A) 78 § & T : (B) (i) e
(C) (i) 3 (i) A D) 3 |/
TBC : 2L/PT—A 8




12, Which of the following is not the main objective of Rashtriya Krishi Vikas Yojana
- Remunerative Approaches for Agriculture and Allied Sector Rejuvenation
(REVY-RAFTAAR) ?

(i) To strengthen the farmer's efforts through creation of required pre- and
post-harvest agri-infrastructure that increases access to quality inputs,
storage, market facilities ete, and enable farmers to make informed choices.

{if} To promote value.chain addition linked production modules that will help
farmers increase their income as well as encourage production/productivity.

(1ii) To attend national priorities through several sub-schemes. -

(iv) To empower youth through skill development, inmovation and ag‘ri—_

entrepreneurship based agri-business models ﬂmt attract them to

agriculture.
(A} (i) and (fv) {B) All oF these
() None of these () (hand (6

frefafos 4 & =49 1= 0 fm dow-—5f ik Tog & F FEwe ®

foe wrwwl gfesm (REVY-RAFTAAR) =1 90 2499 ¥ ¥ 7

(i) ey §d i W & 99 % Fu-gmel d@e & e & mem § e
& wErdl W gEEn w0 & fen S e Y, WEn, =En gEaws afy
ug= wwm oot fewdt = gfem fawen s f wym o E

(i) Hea Al FEdd W T2 SR WggE W awe 30 N BEEE w0 o e
W W OWIG-WY I/ IRl w Genien w0 H WE SO

(i) W5 I w oMo @ wet wafrwarsE O o En)

(iv) e fawT, wEAR S Hie-Tafim s s dew @ weEn @
e w1 " s oW e e P e sl w@ |

(A) (@) 3 (iv) (B) A =t

(C) 778 & FH 7l (D) () 3 @)

TEC : 2P 1—A 9 PT.O.




13. Match List-1 and List-1I with regard to plan outlays (2021-22) and select the

correct answer from the codes given below :
List-I

{f) Agriculture and Allied Services

{(if) Energy
{1ii) Transport

(iv) Social services

Codes :

) (i)
(A) e) la)
By id) {f)
(Cy () (e
Dy (e (e

{ud) (i)
d) (e)
(e} la)
i) (a)
() (a)

(a}
(b}
{e)
{d)
(e)

List-T1
3221.49 crore
903.57 crore
2724.32 crore
829.31 crore
773.30 crore

grer 9= (2021-22) & 99 § wER] AT =00 1 e it it S R
T wE B e A oghe

w1

(i) Ff iw T F=nd

(@) Fa
(i) oftEE=

(i) TfaEs dEn

+E
@) G
(A) § (&) Aa)
(B) “{d) {b)
© ()
o e
TBC 21/P1-A

(e} iv)
() _fe)
c) Aa)
(b} da)
id) la)
1

()
bl
led
ted)
]

qEt-11
3221.49 Fg
903.57 =S
2724.32 HE
929.31 FU%
773.80 wig




14, Which of the following statements isfare correct ?
{{) The traditional council of Khampas is known as ‘Shuzam Chungi'.
{fi) The common term for widow re-marriage used by Pangwals is ‘Doghri’.
{tif} The ‘Bushehr State’ was also known as ‘Maon' or ‘Maone’.
{iv) According to Bhagawant Puran, ‘Kinner' trace their origin from the shadow

of ‘Brabhma’,
(A) (i) only (B) All of these
(C) (ih, (id) and (fv) (DY) i), (ie) and ()

frefafam § & Faysrd =97 w7 § 7
() =W F UAeE TR W gEw T F m # W oW g
(i) TET g FraEn gfdER ® fan wgw W T I R
(i) ‘gt Tt o El @ R R Am @ 0 W S e
(ip) T M % aEEn, (e ool Cwen’ S oo @E
(A) (i) =& (B} F @t
(C) (i), (iif) 3 (iv) M (@), (i) ARG

15. Read the following sentences and select the incorrect one :
(f) St. Andrew’s Church in Chamba carries the influence of Scottish architecture.
{ii} The architecture of ‘Manimahesh Lakshana Devi temple’ iz Indo-Aryan

Wagar siyle (Shikhar).
(1E) ‘Eh&mpﬁ':ati. temple’ in Chamba is built in ‘Graeeo Buddhist art of Gandhara'.
(iv) The brass idol of the Goddess at Chatrari Shakti Devi temple in Chamba
district is in the ‘Kaghmin style'

{A) (ii) and (i) (BY (i} only
{ChADr and i) (D) None of these
feiferfan, @il B Ty R T TR w1 W F
() w # fe gy wd 4 wifen awEE @ oWE #
(i) *efoEn e 3 AR A A HE-arR W d ()’ b
(i) e # SuEr Afer 'wum w1 @ A wen’ 7 ffR R
(o) war Tre & wand wifs 2 AR F A =t 9w s i wwe fE 8§
(A) i) 3T (1) B (i) Fa6
(C) (i) 3 (i) (D) =8 & +§ 7

TBC : 2LP1--A 11 PT.O.
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17.

Choose the incorrect answer from the following :

{t) Abode of Goddess Mathi is ‘Chitkul’,

(i) A living geographical muszeum is ‘Lingti valley’.

irii) Chasak Bhatori is the highest village in ‘Lahaul valleyv'

{iv} The highest peak of the Kinner Kailash massif is ‘Jorkanden’,

(A) (iii) only (B) (i) only

(C) (i) only (D (i) only

Frferfiam § @ TR I 96

() 91 Wt = FEm fEEmal T

(i) wE ifEm it gueem e wE

(i) =ree wErl ‘ee w9 w1 owEs S iy &

() fFm S oo = wEE S 9 WA

(A) (i) $ae (B) (iv) SeEw

(C) (f) e (M) () Fee

Select the correct statement’s from the following™

(£} Mahmud of Ghazni, made a raid on Nagarkot (Kangra) in 100809 AD.

tit} Iliven-Tsang stayed for sometime at Sirmaur with the monk Jaya Guptam,

(ff) Prince Nasir-ud-Din ascended the throme of Kangra under the name of
Muhammad Tughlag.

(i) The Nagarkot fort remained wader the possession of Timur-e-Lang till AD
1043.

(A} (i) and (i) {B) (iv) only

(C) (i) 4d) and. (¥ (D) All of theze

feifEfas 3 "8t fuasaT s 999 st

i) TEE HERE A 10e-09 § # AImER (FUE) W W AR

(R BT wE e # e faed f fay wm e @ owme @

(i) THRAR AA-35-21 TR T & A B wmir ow om w4

(iv) TR W fEen 1043 T o SQ-U-Em @ wEd o

(A) (id) & (iid) (B) (iv) e

(C) (6, (i) 3 (iii) (D) & it

TBC : 21/P1—A 12




18. Which of the following statements is/are not correct 7
(i) The battle of Nadaun was fought between Raja Bhim Chand of Kahlur
and the Mughals.
(i) In the battle of ‘Dhalog’ Raja Janardhan of Chamba was defeated.
(ii{) Raja of Hindur, Hari Chand was killed by Guru Govind SBingh in the batile

of ‘Bhangant’.
(ir) The Gurkhas defeated the Kangra forces at ‘Mahal Morian® in 1806.
(A} None of these (B} All of these
(C) (ir) and (gid) (D} (i) and (iv)

f=faien § 4 sEaEEE we T T gE 7
) ?ﬁfﬁﬂﬁaﬁrﬁﬂﬁg%mﬁnﬁﬁnmﬁf%aﬁaﬁﬁtmfﬁl
(i) “wem’ ® gm d g F T wEE W o B
(i) figx & wan, ¥ =g = v ﬁmﬁgﬁ:ﬁ-—-ﬁqwimml
(i) 1806 H ‘mew WfER' F dwmnei 3w FOE B
{A) T8 & %8 T (BY & &%)
(C} (i) S (e (L) ) 3 b
19. Select the correct statementfs from the following :
i) Khoksar is located on the old trade route from Indian plains to the West
Asia.
{(if) The coins of Adumbras shows that the tribe was worshipers of Lord Vishnu.
{(#ii) In Mahabharata, it is mentioned that the Adumbra is the name of the

Rage Vyas.
(i) The tribal republies of H.P. were ‘Sangha Janapadas’.
(A) Al only (B} (iv) only
Q) (i) andAdiv)y (D) () and (i)

Freifefat 8 @ wft ®wy/su w1 599 wifag o
(i) W gEE tEE @ e o v # e wR A W fem §
(i) wErn & Fesi B omn owem ¥ fE aw SAea e R ot sos o
i) AEwEE d, e I fEm T f owf =W oW W g
(iv) TEorm WY % S TR HY s 9
(A) (i) e (B) (iv) %am
(C) (@) 3T (i) (D) (i) #R (i)
TBC : 21/P1—A 13 P.T.O.




20. Which of the following statement/s about Kullu isfare net correct 7

) Kullu remained part of Punjab state till 31st October, 1986,

(t) Kullu was a sub-division of Kangra district since 1846.

(it} Alexander Cunningham and A.T. Banon were the first Europeans to visit
Kullu in 1820 A.D.

(iv) The idol of ‘Raghunath ji' was brought from Ayodhya to Kullu during the
reign of Raja Jagat Singh.

(A} (i) only {B) (i) only

{C) f}) and (iv) ' (D0 (i) and ()

#rel W H Frefafan § @ S s v owi §

() THov] 31 AL, 1966 TF AW U & faew T

(i) #HEw 1846 W wTH Ao 1 U Fw-TmE a7

(iff) swrae FE T T &9 180 € F T = 9 w0 99 wER gindm 4

liv) T 7 fig & s § gy ot w9 amien & awe wE 4

(A) (if) Faa (B) {fii) F93

(C) (6) 3 () (D) i) A i)

21. Consider the following statements :

{1} Bajrang Punia has become the first Indian€o ‘win'd medals at World
Wrestling Chamionzhips.

(2} Ujjain has been nominated as the first e¥er SCO Tourism and Culture
Capital during 2022-2023.

(3) Indian Army has decided to shift the Army Day Parade of 2023 to Central
Command,

(4) Chhello Show film has been announced as India’s official entry to Oscars 2023,

Which of the above statements are-correct ?

(A) (1), {2) and (3) iB) (1) and (4}

(C) (23, (3) and (4) (D} (1), (2), (3) and (4)

frefeifian sty e afes .

(1) F#dy gfs faga gvdt Sfemfm § 4 w2 S0t T8 S vty o

(2) 357+ 2022-2023 + <R wEEl R wRALA v gwl e ®

. F A few w3

(3) vt & 7 2023 =t ¥ femm Wz ¥ v wum 8 i w9 oW foin

e

(4) &=t ot fEem #1 o 203 & o =t snfuwos wfafe & =0 9 i
e 3o B

T A @ wea wE oW § 7

(A) (1), (2) i (3) (B) (1) 3R (4)

(C) (2), (3) 3 (4) (D) (1), €2), (3 = (4)

TBC : 21/PI—A 14
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.| 92, Consider the following statements :
(1) Global Fintéch Conference in 2022 was held in Mumbai.
(2) Tripura State has launched ‘CM da Haisi’ web portal.
(3) Rohit Sharma has surpassed Pakistan Captain Babar Azam in the recently
ICC T-20 rankings.
{4) District Disability Rehabilitation Centre is an initiative of Union Social
Justice and Empowerment Ministry.
Which of the above statements are incorrect ?
(A) (1}, (2) and (3} {BY {2}, (3) and(4)
() (2) and {3) (D) (1), (2)\3) and {4)
frefatas wwE W fam S
(1) 2022 & Afrwrs fres wie g=9 3 srfem e man @)
(2) g o= 3 ‘dom = W A e A= R R
(3) e vl 3w @ # IGOT-20 En F ofewE & wEE W= AEE w9

g frm.

(4). Foren T gAata B3 S4 s 9 T fewfe T W o
!

TrEa B f FE weR e § 7

A) ) (2) @) (B) (2), (3) 3 (4)

(C) (2) 3 (3) @) (1), (2, (3) 3 (4)

TBC : Z1LP/I1—A 15 P.T.O.




23. Consider the following statements :

(1) Telangana State has announced India’s first Breakfast schems for
government school students.

(2) The term Prompt Corrective Action is related to framework under which
Banks with weak financial ratios are watched by RBL

(3) Amongst Union Territories Puducherry has become India’s first Swachh
Sujal Pradesh,

(4) Prime Minister has launched national logistics policy.

Which of the above statements are correct ?

(A) (2) and (4) (B) (1), (2) and (8)

(C) {2), (3) and (4) D) (1), (2), (3) and (4)

Fefafan 95 w fFar wifad .

(1) e T % T e el 4w @ e e G ) s
¥

f:}mmmﬁmﬁmﬁﬁﬁﬁﬁmtﬁﬁmmﬁﬁqaﬁm
el Akl WL s TR Tl W Y

A3) 7 Wi w2 A qgE0 amn W wen @ guw ww oW T d

(4) wam 5 3 i efafem S e W R

e § B S oEe ud § 7

(A} (2) 3 4) (B) (1), (2) =R (3)

(C) (2), (3) 31 (4) (D) (1), (2), (3) 3 (4)
TBC : 2VP1—A 16




24, Consider the following statements :
{1} Reliance has been conferred with the Rajbhasha Kirti Puraskar' for 2021-22,
(2) Satish Adiga has been conferred with top French civilian honour.
{(8) ‘Chandler Wobble' is related to Black Hole.
{4) The new Naval Ensign features the national emblem inside blue Octagon shape.
Which of the above statements are incorrect 7
(A) (1), (2), (3) and (4) (B) (2), (3) and (4)
{C) (1), (3) and (4) (M) (1), (2) and (3)
frefefma wydl W faar wifag
(1) fmrda & 2001-22 % fom ‘maven S @R et (Ea B
(2) wte sfem = wie W At SR S weeiT I #
(3) ‘wizer otaa’ = BE 9 E=tan B
(4) U Y= v A A sTewY ATER HosigE meW wOE §
ydem A FEE FE ER § 7
(A} (1), 12}, (3) 3T (4) (B} (2)/43) 3T (4)
(C) (1), (3) 3% (4) (DY T 24 3 (3)

95, Which of the following statement/s about ‘State Food Safety Index’ for the year
2021-22 isfare correct ?
{1) Among the large states Higachal Pradesh got 4th rank.
(2) Among the small states Hou pot 2nd rank.
(3) Ameng Union Tersitdries Delhi & Chandigarh got 1st and 2nd ranks.
(A) (10 and. (20 enly (B} (2} and (3) only
(C), 1) and (3) only (D} (1} only
frffan § & FFaE 39 U T gE ees W 2021-22 ® a0 oAE 7
(1) 5% o # fewew wim o= da wE e 3
(2) 9% gl T W gE wm _
(3) &g faa wew # fresl ofn S92 = weem ofm gEw wA faem)
(A) w8 (1) R (2) (B) wam (2) s (3)
() = (1) #m @) (D) == (1)

TBC : ZI/P/1—A 17 P.T.O.




26,

27.

TBC :

Consider the following statements

(1) Tamil Nadu Btate is in the process of developing a Dugeng (Sea Cow) reserve.

(2) “Blue Book" is the manual of National Security Guard.

(3} °"CiSS application’ under Baal Swaraj portal is used in the context of
rehabilitation of children.

(4) Tadoba-Andhari Tiger Reserve (TATR) iz located in Madhya Pradesh.

Which of the above statements are incorrect 7

(A) (1), (2) and (3) (B) {2}, {3) and (4)

() (1) and (3) (D) (2) and (4)

ety 5o w fEw waE

{1}Hﬁﬁ|=|r§mgrﬁn (=7 =) frad fawfon =13 =t ofem # &)

(2) "= %" T geen mE owm fREm h

(3) o8 T 9EE % Ten ' HaETavn wed W o a8 iy 8 e
# fFm o ¥

(4) mEm-sivd oew food (Hudaw) ma ww f fegt ¥

T H 9 S e e £ )

(A} (1), (2) 3 (3) (B} (2), (37 (1)

(C) (1) =¥t (3) (M) (2) ¥ (4)

Congider the following statements

(1} Bangladesh will host Women's Twentw20 Asia Cup 2022,

{2) China has successfully cloned the awild Arctic wolf for the first time in the
world.

(3) In 2023 BRICS summit will be held in Brazil,

{4) Equal Pay International\ Godlition iz an initiative of G-20.

Which of the above statemants are correct ?

(A) (1) and (2] (B) (2} and (3)

{(C) 43} and. [4) (13 (1} and i4)

Frtotian, g W fean St .

{T}awﬂ%ﬂqf‘m'&-znqﬁmmmz w1 T W :

(3 EE 7 2fm § el @ Wnet swfew 9fed =1 swegET FA
= R

(3) 2023 T fo Teran w=iwm weid § 20

(4) €919 997 SWEE TEEYT W20 # TR T B

f 4R H e v E

{A) (1) 37 (2) {B) (2) #% (3
(C) (3} 3 (4) D (1) #it 4
21/PT—A 18




28. Consider the following statements :

(1} Giorgia Meloni became the first female Prime Minister of ltaly.

(2) Tajikistan hosted the Shanghai Cooperation Organization Summit, 2022,

{3} UAE has signed an MOU with China's space agency to work together on
mOoon mMissl0ns,

{4) Devastating storm Nanmadol had struck Laos

Which of the above statements are incorrect ?

{A) (1), (2) and {3} (B) (2) and (4)

(Cy (1) and (3} (DY (2, (3) and (4)

frtafaa wami o fawn wife2 .

(1) fomiifsfn S=irt o=l =i ugell wigen wwm == &+l

(2) ofafemm 3 v meEm nes frem TeEEd, 2022 w1 A w0

(3) B sd onfrod 3 wEW feM T UH WY F W & 60 9 S sty
wEt Wy ow wE T e R

() Famrard qEE AFWER 3 w@em | waEs fEmoa

T A | wHE %y TEm § 7

(A) (1), (2) 3 (3) (B)+ ¥2) 4 (4)
(€ (1) & (3) ) (2), (3) 3R (4)
28, Ukraine shares borders with which of the following countries 7

(1) Belarus {2) Romania :

(3) Hungary 4] Gﬂﬂfﬂlﬂ

Select the rorrect answér-using the codes given below :

@AY (1), (2) and (3) only {(B) (1), (3) and (4) only
) (1) (2Yand {4) only (D} (2), (3) and (4) only
g, Ty @ @ fea 26 ® Wy w7

(1) wemes (2) T

(3) & (4) e

4 ol e oW W owm s ol oI g

(A) = (1), (2) 31 (3) (B) waw (1), (3) 3 (4)
(C) ®98 (1), (2) ¥R (4) (D) H== (2), (3) 3N (4)

TBC : 21/P/1I—A 19 P.T.O.




30, Consider the following statements :

(1) UNICEF appointed Vanessa Nakate of Uganda, elimate activist, as the
Goodwill Ambassador of the UN Children's Fund.

(2} ‘Meritorious Service Medal' to Admiral Sunil Lanba, former Navy Chief
of India was awarded by Singapore.

(3) Germany is the host of the World Water Congress and Exhibition 2022,

(4) Qimingxing-50 is the name of the first fully solar-powered UAV of South
Korea.

Which of the above statements are correct 7

(A) (1) and (2) (B} {2) and (3)

{C) (3} and (4) (D) (1) and (%)

Freafefas +o4 w f=m =ifq7 .

(1) T 3 e F TS SR A R S e T 9 % % e
TR e fam

(2) FIqE g WA & T SO usfme g e s R e w A
TrmfE e T

(3) sl Bred S wh o wewH 2022 W e R

(4) Qimingxing-50 3f&m Fifen & wea g e 4 O w9 @ =97 99 UAV =

R TER {

Tdss B H B0 ww wh § 2

(4) (1) 8 (2) (B) (2) 3 (3)
(C) (3) 3 (4) (D) (1) 3R (4)

TBC : 21/P1—A 20




31. Consider the following statements ;

(1) U.N. Secretary-General Antonio Guterres appointed Roza Otunbaveva a
former President of Kazakhstan as his new special envoy for Afghanistan.

{2) Russia has become the first country to approve the world's first needle.
free, inhaled version of the COVID-19 vaccine.

(3) As per the latest figures from the IMF (September 2022), France economy

_ is the fifth largest economy in the world,

{4) China is the President of the G-20 in 2022

Which of the above statements are fncorrect ?

(A) (1), (2) and (3} (B} (2], (3) and ()

{C) (1), {3) and (4) () (1), (2K (3and (4)

Tretefan Fodt = famm =ifad .

(1) Higw T2 wermlEa G oW T S an & fay w93 e R @ @
i FiEEE # @ ae T SR ) feE

(2) ¥4 Fifag-19 ¥R & gFE S 9790, Tees T F Hl 23 =
wEal 29 a4 T B ,

(3) sfumom-(fan, 1022) & T s & sEn, wWe % adsren gfa
i el waw wgl e ¥

(4) 2022 % i fi-20 =1 =y ¥

iR § A sl wu om § 2

(AT(L) (2) 3R (3 (B (2), (3) #M (4)

(C) (1), (3) 3R (4) (D) (1), (2), (3) 3 (4)

TBC : 2L/P1—A 21 PT.O.




32, Match List-I with List-II :

List-1

(Winter Olympies Games
Beijing, 2022-Couniry)

{a) China
ih) Germany

()

Norway
{d) United States of America

List-11
(Medals won)

a7
(ie) 25
(1) 27
e} 15

Choose the correct answer from the options given below :
Codes :

(A)
(B)
()
()

(ay (&) {c) (d)
(i) () () )
(o) (i) () (i)

(@) (@) () ()
| @ ) GE G
-1 =1 T o 1 @ foem s it

-1

(@) =4

(B) =T

e) =

{d) o i
ﬁﬁﬁ@ﬁaﬁiﬁ‘ﬁuﬁmmwﬁﬁﬂ:
pr

(A)
(B}
)
b

@A) & Ad)
(HE) ) (@) ()
(o) W) (@)
te) ) () (i)
(0 (@) G G

TBC : 21/PT—A

(vita 3iwfos d@& difs, 2022-3m)

22

- 11
(v )

w37
(i) 2B
(iir) 27
(e 15




33.

4.

35.

The Airavateshwara temple at Darasuram was built by :

(A) Chola King Rajaraja-II (B) Chela King Kulothunga-I1I
{C) Chola King Parantaka-I (D} Chera King Nedum Cheralathan
S, W oste A frel fRed o @ 7
(A) EF = -1 (B) W& T wEgm-II
(C) = T TrE-1 (D) =7 T AgH HATEE
W}ﬂnhmﬁ:afaltmwmwmnufnﬁrtmhyFMusmet Bhaga ?
{A) Karnabhara (B) Urubhanga
(C) Dutvakya (D} Shishupalvadh
frafaiem 4 |4 S TeFges e w6 9w g fafaa vl & 7
(A} wvivm (B) FE
(C) ZmEmEg (D) Fryetay
Which pair is not correctly matched 7

Foreign Traveller Country associated
(A} Pietro Della Valle French {France)
(B} John Fryer England
(C) Niceolas Manucci Italy
(D} Joapnes-PeLact Duteh
FAE A (qEh o gEeE T ¥ 2

farzyit ==t wafaa 2w
(A) fip B &5 e ()
(B) = g TS
(C) Traren == =l
(D) A-=i-wree ™

TBC : Z1/P/I—A 23 ET.0.




46. Who was the author of the book *Tarikh-i-Rashidi® ?

(A) Ahmed Yadgaar (B) Mirza Haidar Dughlat
(C) Gulam Hussain (D} Shaikh Rizqullah Mushtaqui
“wiE-u-ufdt e W SEs #Eom 7
{A) 9% TETR (B) faal #=3 gm
(C) T A (I ¥ra fiowamame g
37. Whoe was the founder of “Indian Association for the Cultivation of Science”
(1876) 7
(A} C.V. Raman {B) Mahendralal Sarkar
(C) Father Lafont (I  Ashutosh Mukherjee
Ve wEifauIE W R SeEEE SR WEE (18fe) w1 deue (dd @ 7
(A #tadt (B} TEmEm WEw
{C) FET THER= (D} S gerEi

38. Who said, “Lord Ripon, the savior of India and his/rulé-the beginning of a
Golden age in India™ ?
(A) Florence Nightingale iB] I'E.Moherts
(%) Lovat Frazer (I« KrevStakes
fre =i i &t o 1 osEEE T we i SEE e w0 vEa g
w1 WY wE
(A) wEIE TelEm B) .4 mEw
(C) ==z ol (D) Tw EEE
3%. Who zaid, “Raja-Rammohan ‘was the only person in his time to realise completely
the siginificance of the modern age” ?
{A) Aurobinde Ghosh (B) Rabindranath Tagore
€} Sumit Barkar {D} Barun De
et % A wwa § o veEe @ R o 8 frRR angfe O # e
&l A 2
(A) anfae = (B) wrgng 2R
(C) Hfmm w=wr (D) =¥m #

TBC : 21/P/1—A 24




40, Which among the following books was nof written by Dr. BR. Ambedkar ?
(A) The Annihilation of Caste
(B) States and Minorities
(C) What Congress and Gandhi have done to the Untouchables
(D) India in Transition
Fefefmm 4 4 99 s = dtoen seldmst g fafem A ot
(A} 5 Ufierem #fe ww
(B) ¥4 UrE HEAES
(C) =R #m tz W 33 = 2 B oaeEEe
(D) Efem = zifem

41. Which pair is net correctly matched ?

Education Commission/ Year

Committee
(A) Sadler UTniversity Commission 19Y7
(B} Hunter Education Commission 1887
(C) The Hartog Committee 1929
(D) Indian Universitics Act 1904
S ST T, wE i o

Tovem. st wibf ad
() Hroew favafaems Andm 1917
(B) =2 foren iy 1887
(C) =2 _afafs 1929
(D) e EyEtae i 1904

TBC : 21/PI—A 25 PT.O.




42,

43.

44.

i
Where was the “Indian Independence Commitiee” set up by Lala Hardayal

and his friends ?

(A) Rome {Italy) (B} Berlin {Germany)
() London (England) (D} Paris (France)

o wEAE o e wiedl | g e wEeem Wi s s s S
m ot 7

(A) T (F) (B) =fef (wf)

(C) & (Fers) (D) Hftm (wW)

Milam glacier is located in :

{A} Karakoram region {B} Pir Panjal region
{C)} Nepal region (D) Kumaun Garhwal region
e fewm feum % -

(A) R &= § (B) Rt dEeE

(C) “mr= & H (D) o e A
Zajila pass is located in

{A) Punjab Himalavas {B) Kumaun Himalayas
{C) Nepal Himalayas (D) Assam Himalayas
wreften 1 fream o

(A) worE femem (B) Fad fomem

(C) Fum femera ¥ (D) swm femem 3
Vadipat ol réfimery is \managed by :

({A) Reliance Industries (B) Bharat Petroleum
{C), Esgar il Lid. (13} Hindustan Petroleum
AIE el W woar ® gE o

(A) fremm gE=ta g (B) smm TEifeam g

(C) TR wm fafas gm My fegmm SEifems g

TBC : 2L/P1—-A 28




46. Which of the following countries iz landlocked

(A) Peru (B) Bolivia
{C) Surinam () Uroguay
Frafafas § 4 S o woewm @ fooon § 2
(A) % (B) =
(C) M (D} =4

47. Where are the Balearic islands located 7
{A} Mediterranean Sea (B} Black Sea
(C) Baltic Sea (I North Sea
AHE &Y wuF wE W fem § 7
{A) VAR AR (B) R WP
(C) =fe=® AR (D) I AR

48. Turkey 15 located between :
(A) Black Sea and Caspian Sea
{B) Black Sea and Mediterranean Sea
(G} Gulf of Suez and Mediterranean Sea
(1) Dead Sea and Black Sea
ZH Frefelen § A femd oo fm ¥ 2
(A) T AR P R A
(BY =Fen Ar i e W
(). P & = @ gma TR
) w3 = A\

TBC : 21/P1—-A 27 P.T.O.




49, Flemish are the tribes of :

(A) Croatia (B} South Africa
(C) New Zealand () Belgium
Tt weents w1 FEY £ -
(A) wrfrm & (B) =femi amwiw #
(C) ==t | (D) Aftes &
50. Make a sequence of the following countries from North to Seuth -
(1} Romania {2} Balgaria
(3} Ukraine 4) Greece

Choose the correst answer from the options given below .
(A) (1), (2), (3], (4)
(B) (3}, (1), (2), (4)
(C) (4), (3), (2), (1)
(D) (3), (2), (4), (1)
¥4 o st W oww @ =fem S Ew F otfad
(1) T (2} e
(3 TFHA (4) T
ﬁﬁmm##ﬁmw?ﬁﬁhﬁ
(A) (1), (2), (8), (4)
(B) (8),11),(2), (4)
(C) \(4), (3242, (1)
(D) (3), (2}, (4, (1)

TBC : 2UP/I—A 28




§1. Match List I with List IT :

List

I

(Sea)

e} Black Sea

(b) Red Sea
{e)  Yellow Sea
{d} Caspian Sea

Choose the correct answer from the options given below :

fa)
(A) (3)
(B} {u)
(Cr )
(o G

b}
{eer)

{HE)

(iei)

(s}

el

(i)

()

(i}

(i)

{d)
{rae)
(i)
(Iw)
(iEf)

List II

(Country)
{fh  Bulgaria
(it} China

(i) FEritrea
it Kazakhstan

oar [ @ g4l 11 3 fuerd sifeg -

ot 1
(|Tm)

() =l TR
() & AR
(e} M\ TN

(d) FETE- ST

e 11

(=)
(iyy \EETE
(i) =
(igr) SR

(iv) i

T e 4 W T W

ta)

(A) 1)

(B) (i}

(G4

(DY {i)
TBC : 2L/PT1—A

(b}

) )

(i)
FiTh)

{iv)

ie)

1]
(i)
(£}

(d)

(iit)
()
livh

Fiy

23

P.T.O.




62, Match List [ with List IT :

List

{(Mineral)

() Nlica
{h) Baux

I

ite

ic} Manganese
() Copper
Choose the correct answer from the options given below :

List TI
(Place)
(i)  Khetri
{ify Hazaribagh
(it} Palamau

(v} Keonjhar

@} &) () (d)
(A) () (fv) (D (i)
(B) ) (@ (i) @)
(CY @) () 0 G
(D) GiE) G @ G
I | g 11 # fiem wifEg .
Tt 1 oE 11
(et (T
la) =9s (i) @S
(h) HrFETER (j) ™ TR
(e) T fudi) TR
() T (iv) T
4 o R e Y 9w W e AR
) B e )
(A WD ey ) )
(B) (@) GE), G @)
(L Gl G (D
Dy @ @ W G

TBC : 2L/P1—A

30




i

53. Match List I with List II :
List I
(Dam}
(@) Nagarjun Sagar
(b} Matatilla
{c)  Maithon
() Hirakud

Choose the correct answer from the options given below :

la) &) (&) (d)
(A) () @ () G
(B) 0 Gu)y () (x)
(C) Gu) vy (&) @
(D G @ (@) @)

List II

(River)
{iy  Mahanadi
{it] Barakar
{iii) Krishna
iw)  Betwa

et 1w gt 1@ fem s

el 1
(afan)
(@) ATTHT HR
(b) W
(e} Fe

(d) FTHE

Tt 1
G
(f) o
(i) SRR
{fiz} hEmm
{fv) e

o oE R § @ W e i

(@ B @ (@)

(A) G @ ) )

By @ ) G )

(C) i A @ @

M) A GD D W
TBC : 2UP1—A

a1

P.T.O,




Tr
34. Who decides the matter of disqualification of MLA for matters other than those

given in the Tenth Schedule of the Constitution ?
(A} Speaker Legislative Assembly
(B) High Court
(C) Governor
(I} State Election Commission
T foum W & weR Wt aniram w fole, S afe w e sl S it
B, 1w § 27
(A) Taum wwr sy
(B) 3= =4
(C) Ty
(D) = e swm

55. Which Article of the Constitution of India bars & Member of Parliament from
holding an office of profit under the Government of India or the Government
of any State 7 |
(A} Article 100(1)ih)
(B) Article 101{1Ke)
(C} Article 102(1)a)
(D) Article 103(14d)
VT HENE & - e fedl Siee #1 9Re weEn A Reet s wrEn |
ML WO R 9L wioe e & 2
(A) =T=7 100(1)L)
(B) #rea 101(1Ke)
(C) | 5% _102(1)(a)
(D) = 103(1Xd)

TBC : 21/PT—A 32




56. What is the object of eut motion ?
(A) To reduce income tax
(B} To reduce excise duty
(C) To reduce expenditure in the Budget proposals
(I} To reduce plan expenditure
FEN WA W F SRy AW o 7
(A) FFL F I (B) TR IEF WA
(C) T2 wam & &= # w2mt (D) g wet § sd
07. Through 73rd Constitutional Amendment Act 1/3 seats for the WOomen are
reserved in the Panchayats under which Article 7
(A) Article 243-A (B} Article 243-R
(C} Article 243-C (D} Articler243-1
s & 734 svinm ® g e d wlemed 2 18w w s S AT
® i fGm o g 0 |
(4) =R 243.A (B & == 243-B
(C) &=, 243-C (B AT 243-D |
58, When any official does not peform his duty, High Court/Supreme Court can
issue which writ ?
(A) Habeas-Garpus {B) Prohibition
1) Mandamus ' (1 Quo Warranto
e e R s R R e LR R e R R e Sp—
T AR W w7
(A=) S (B) uigEy
(C) wwEm . (M #yFr 7=
TBC : 2U/P1—A 33 _ PT.0.




59. Which Articles have been inserted to provide reservations for Economically
Weaker Sections (EWS) in 2019 7
{A) Articles 15(1) and 16(1) {B) Articles 156(2) and 16(2)
(C) Articles 15(4) and 16(4) (I} Articles 15(6) and 16(6)
Wil w9 @ fuee o (Lesgum ) i sem A w0 8 T asEl w1 wimim
forar w2
(A) #T=R 15(1) TF 16(1) (B) #T=% 15(2) 9 16(2)
(C) #1=% 15(4) v 16(4) (D) *=2% 15(6) T8 16(6)
60. The purpose of an adjournment motion is to :
(A} Seek the leave of the House to introduce a hill
{(B) Censure the Government
{C) Propose a reduction in the budget
{D) Draw the attention of the House to 8 matter of urgent publicimportance
T WEAE W ST s e RO
(A) sfafgm g % 989 © FHEEw o
(B) wtw W g fad=m Fom
Q) 792 & T weEE 99 W
(D) ¥ % Hfd WgwEgel fa9s T TEN % SEEHhT, F19%
6l. Judiciary in India enjoys the power of Judicial Review on the principle of
“procedure cetablishod by lnw™ which means :
{A) Judge in India ean declare a law inwalidelmply because in their opinion
the law is not due
{B) Judges in India can question thevvalidity of undue law even if it is within
limits of the comstitution
(C) Judges in India cannot question the validity of law, provided it is within
the limits of eonstitution
(D) MNone.ofthe above _
W HesgEmiE el gErem W sfgwn U fafe g i wiEn & g
(A) =mardte fEd off A B A T OSNR W osEN Wi W wwa §, Wi
o faen d 5 wavas
(B) =aftet 5w Frn H o dAEvsEa & o9en Woady g s wwm ko
% WEYA w A § @
(C) —areie =0 FFF # J9W W W9 T 99 WA qi ww wewe o § ¥
(D) 3w 4§ | =

TRC : 21/P1—A 34




62. Regarding the Interim Government of 1946 which of the following is not correct ?
(A) Jawaharlal Nehru was the Prime Minister/Head of the Executive Council
(B) Jawaharlal Nehru was designated asz the Vice President of the Viceroy's
Executive Couneil
(C) The Viceroy continue to be the Head of the Executive Council
() The members of the Indian Gevernment were members of Viceroy's
Executive Council
1946 +T Frafty wwm & 9 # ft § & | owd ol &
(A) ﬂﬂmﬁmiﬁmﬁﬁmﬂmﬁqﬁﬁﬁm g
(B) waTRoe R W wEeE W welEd ofmr w1 snae s oo
(C) o FrEEnt ey, w1 TE T T
(D) ¥YHE FHE % WEE 9 A FEEE ofimed v 4
63. What 'Zi':f:f_"r"ﬁ"l-L understand by “Zere Hour' in the Indian Parliamentary Procedure ?
(A) The time at the end of the question hour and before the debate on other
agenda of the day
{B} Time just before the question hour
(C) When any special privilege motion is accepted
(D) First-hour of the.session
AT R Whem F v @ smew @ atawm &7
[A}mi‘mammﬂqﬁﬁmﬂwﬁwm
(B) w9797 § 2w = Wy
C) & _fodt fAimfosn =1 wem wwn s #@
(D) 73 F T "
TBC : 21 F1—A 35 PT.0.




64. What constitute definition of Money Bill under Article 110 of Indian Constitution ?
(A) The imposition, abolition, alternation in regulation of any tax
(B) The regulation of borrowings of money by Central Government
(C) The appropriation of money out of the consolidated fund of India
(D1 All of the above
WRETE HANE # sTse 110 ® ey oF fades 5% ofoo F s gt fea
W g ?
(A) T8 W1 = m afirw, Immee, ofer, sfed au fGfEae s 8
(B) %% WEHR 3H WK f&T mu @ & fafragy & w6
(C) wid =i Hfam fifa d 7o w0t = =0l 9 9 et 4wt &
(D) T [t
65, What is the current position of representation of Apglo-Indians in the Lok Sabha ?
(A) Two Anglo-Indians are nominated by (v Tresident
(B} One Anglo-Indian is represented
(C) Nomination of them has been done away with by 104th Constitutional
amendment
(D) Theydre nominated as.per their population
F W S # Aol & wfafifues o foofe & 2
(A) Fr=afa BRI ) SFE- e wEEE R wa §
(B) o= sma-widE yfafifos son @
(C) BEIAF 1048 Fvive g T/ AT gara w1 R o @
D) % 395 wAHEn  wgew Wi G A g
TBC : 21/PI—A 36




66, Given below are two statements -
Statement I : According to a World Bank working paper, extreme poverty
in India_dmppad ta ID.E‘HI. in the pre-Covid year of 2019 from as much as 22.5%
in 2011.
Statement II : The paper uses the Consumer Pyramids Household Survey
(CPHS) to provide estimates of how poverty and inequality in India have evolved
gince 2011,
In the light of the above statements, choose the most appropriate answer from
the options given below :
{(A) Both Statement I and Statement IT are correct
(B} Both Statement I and Statement I are incorredt
(C) Statement 1 is correct and Statement [1 i6 \Jnenrrect
(D) Statement I is incorrect and Statemenf\II is correct
A D we fay oo §
w7 1 : fva d% 4 afen T # agem, WA H st T 2019 % yd-wifas
s § Wewt 102% B T, W 2bii-d 225%
w11 : 59 T ¥ 39 e i wdaw (whiiwsms) &1 3w 9 wqEn
T H A T o Ui 2011 | wwa A e ain swEn &4 fawtoe 1 3
ST T WS R e g Feeret # & waifum soge aow we Wi
(A) 97 1 R Fa1. 11 41 wdr &
(B) 497 I iF %99 11 S+ wem #
(CF FMA TG § o w1 em &
D) ®e | om & 3N w99 11wl §

TBC : 2LPI—A ' a7 BT.O.
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87. Given below are two statements :
Statement I : Development expenditure of the Central Government does not
include defense expenditure and grants to states.
Statement II : Non-development expenditure involves Interest payments and
Subsidies,
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement Il are incorrect
(C) Statement I is correct and Statement Il is incorrect
(DY Statement | i3 incorrect and Statement 11 is correct
o R W few omw ¥ .
wEq 1 : &5 WaR T faem =y § a0 = s v F aEe e a6
wmad 1l : -fomrm = 4 = yoam ol wferst wbm &
TR WA H MR R A fan e faedt & vaifies avgEe e w T g
(A) F 1 3 wmew 119 owl §
(B) wud [ i Fem 11 S0 7o ¥
(C) w97 [ 981 & W w57 1l 7 %
(D) o7 [ T ¥ R wem I owE %

68. Given below are two statements :
Statement I : Deficit financing cannot creats inflation in an economy.
Statement II : If RBI reduccs the cash regesve ratio, the credit ereation will
decline,
In the light of the above statements, choose the most appropriate answer from
the options given below :
{A) Both Statement I and Statement Il are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct. and Statement II is incorrect
(D Stabément. I s incorreet and Statement IT is correct
=S A Rrm ¥
wua 1 ;2w fawimn e adermon § gt o oww w@wa R
w11 ; 77 S fw fod sem wem & 9 #fse gwa owwm R oW
T, B # aun T A fog T faeedl H A weifas v aw W W wife
(A) wEF T =i e 11 9 ud §
(B) oA L&t =ug 11 orf mem €
(C) FeR 1w & sf we 11 o@ &

(D) 49 | 7o ¥ ol wew oo owe &
TBC : 2UPI—A a8




69. Given below are two statements :
Statement I : Low-income countries (LICs) and lower-middle-income countries
(LMICs} have high prospective growth rates and high marginal productivities
of capital.
Statement Il : They should borrow, and borrow heavily, in order to finance
a broad-based increase in investments on human capital (education and he alth},
public infrastructure (power, digital, water and sanitation, transport) and
environmental protection,
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B} Both Statement | and Statement II are incorrest
(C) Statement I is correct and Statement II ig intorrect
(D) Statement I ig incorrect and Statement I1 35 correct
A % wmew far g B .
FA 1 723 =t 39 (Weenis) AT Fre-wameang w39 (qemmede)
# =3 Wi fawm o0 s 99 A e= dim s R
w0 : 7 gt (e e 7o), et afeet @9 (foed, fefem, o
# T, i) o e S o fEm # s an @ gt @ famin
% g o T A R o ud mmn § o S i
FTF wAdl A W A g et § A waifes svae swow w99 Wi
(A) %47 1 iR 799 11 41wt §
B w1 A Fem 10 39 o §
) = L sl we I omem
(D) F99 1 W & oft wom 1 w8 ¥

TBC : 21PI—A ) 39 PTO.




70 Given below are two statements
Statement I : The average SDG Index score declined in 2021 as compared
to 202(), partly due to slow or non-existent recovery in poor and vulnerable
countries,
Statement II : Among G20 member states, the United States, Brazil and the
Russian Federation exhibit most support for the 2030 Agenda and the SDGs.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A} Both Statement I and Statement IT are correct
(B) Both Statement I and Statement [l are incorrect
(C) Statement | is correct and Statement IT is ineoffect
(D} Statement T ir incorrect and Statement I is cdrrect
de =1 Fwye g oM
FET 1 2 2020 F AE N 2021 9 e RS fEww w=R § fiuee o, st
w9 # WA 3 wEan 29 0 Ol @me © woEr fEed & s
oEA 01 : G20 9291 390 o, Ty T s, wem ol w1 2030 e o
THEET % feu-wms sfow el w=im #wm §
TR F e T A fe st F & weif S S0 e
A) F9T 1 A w0 EET wE B
(B) o [ 37 Fua 01 Ee wem @
(©) Fo LA B sl w1 Tew %
(D) ®em T em & ol w11 A %

TBC : 2L/PI1—A 40




71, Consider the following statements -

(1} If Indian economy is in equilibrium at the point where plans to save and
to invest are equal, then gﬁvrnment expenditure must be equal to
government income

(2) In pursuance with the recommendations of Narsimham Committee, the
REI has framed new guidelines to setup more foreign exchange banks

(3) Redistribution policies geared to reduce economic inequalities include
progressive tax policies

(4) The currency convertibility concept in its original form originated in Taylors
Agreement

Choose the correct answer from the options given bElow -

{A) (1) and (3) only (B} {2) aupfl 63} only

(C) (1} and (4) only (I (2) and (4) only

Frfafms s m fram it -

(1) = gt sefsrmw 38 6 gt S § w9 aw s P ot gt T
& o wE wE W g R A e af

(2} = A & el $ s 4, aftens 4§ wiww fadvi qm §% wnfem
0 3 fom A0 e Ao w3

(3) o0l STEmemaT ¥ w9 w0 & fo dmw i S § ki w0 e
amfwen §

{4) 'ﬂmﬂﬁuﬁwmmmﬁqﬁmﬁiaﬂmﬁﬁmg

e o el § @ v e ow o 6

(A) sl 1) 30 (3) (B) @aa (2) 3 (3)

(C) FFd (1) 3 (4) (D) =am (2) 3 (4)

TBC ; ZL/PT—A 41 PT.O.




72. Consider the following statements :

(1) Gross capital formation consists of outlays on additions to the fixed assets
of the economy plus gross changes in the level of inventories

(2} Net value added at factor cost is the sum total of all the factor payments

{3) The National Income is the total amount of income accruing to a country
from economic and non-economic activities in a vear time

{4) In moving from national income to personal income we must subtract the
incomes earned but not received and add incomes received but ngt currently
earned

Choose the correct answer from the options given below

(A) (1) and (3) only (B} (2) and (3} ool

(C) (1) and (4) only (D} {2) and A4 only

Frerfafem w5y w feam =it .

(1) @ gt fwiw § wdemen ® w90 GaiErH gie W wRem din 5= w
w4 mwa viEd o §

(2) T T W RS T TG YewEud Tl wEE WE R A E

(3) T=Ee A fal gw W uE e A afas iR fn-snfes wfafafedt @ 43 S
o A e e

[T WA e s # W o v ot o o e a7 o
3T W AR ST 3W SE w0 we wen W@ wm g ofen wwem o

= fmd Mo faEed § ® wE I W o999 Siie
(A) == (1) o (3) (B) == (2) o (@)
(C) ®=7 (1) 3 (4) (D) #&a (2) M (4)

TBC : 21/P/1—A 42




73. Consider the following statements :

1) The green economy could add more than 54 million jobs worldwide by 2030

(Z) World over the additional investment to avoid future pandemics is estimated
to be only 215 billion a year

(3) Over 90 percent of countries saw their HDI value drop in either 2020 or
2021

(4) The economic gains from phasing out coal could amount to as much as
1.7 percent of global GDP every year

Choose the correct answer from the options given below

{A} (1) and (3) only (B (Z) and (3) dnlw

(C) (1) and (2) only (D) (3) and (4 only

frefafas s m faam sy

(1) e sl 2030 o% gf w § g4 Fafemm & afis it =) oy T
L4 .

(2) gFE W, wiam F1 memiel @ T § o s fem o oY fam 815
fafm 7 w1 sgm &

(3) 90 sfrm el 39 7 2020 = 2021 § #9 weEad o # fee wEh

() FrIE R WG W § owe w0 T e Ty w o A awn
SiF @ w17 ueE @ wwm

ﬁﬁﬂmﬁﬁﬁﬁﬁﬂﬁmmm#ﬁq:

(A)dEw (1) i (3) (B) %= (2) 3T (3)

(C) F&5= (1) sh (2) (D) 39 (3) 47 (4)

TBC : 21/PT—A 43 P.T.O.




74, Consider the following statements :

(1) The Positive Peace Index measures the positive peace of 143 countries

(2} It covers 58.6 percent of the world population

(4} Positive peace 18 defined as the attitudes, institutions and structures that
create sustain peaceful societies

{4} It i3 based on more than 45.700 data series

Choose the correct answer from the options given below

{A) (1) and (3) only

{B) (2) and (3) only

(C) {1) and (2) only

() (3) and (4) only

FrefofEn weEl W fan o

(1) TFARHE T EIHF 143 97 F "5wREneso wi HosmEn

(2) wad ford #1 59.6 Hiww HEET IR

(3) TEFWEEE wif 1 oed gfewh, gfna o gems & ww 8 ufiyfw fE
% ) it e & i T w6 §

(4) € 46700 T At W osmfiE §

iR fgn e @ wd Im oW W s

(A) F5a (1) 3T (3)

(B) Fad (2) ¥R, (3)

(C) Sham(l) =i (2)

(D) ®aa (3) & (4)

TBC : 21/P/I-A 44




75. Consider the following statements

(1} The Global Health Security Index is a measure of pandemic (COVID-19)
preparedness

(2) Compared with the rest of the world, a higher percentage of people in ORECD
countries tend to be covered by public or mandatory private health
insurance

{3) "30 x 30" target relates to peverty eradication

(4) World aver, cities and other urban areas are home to around 25 percent
of humanity

Choose the correct answer from the options given below .

{A) (1) and (3) only

(B} {2) and (3) only

(C) (1) and (2) only

(D} {3} and (4) only

(1) #feaw e @men go=F T OoVID-19) # el ® H

(2) g = ==l feedl =1 e &, St 3 4 il w5 wE vem i et
o A el e @ e e o 2

(@) "30 x 30" T YEh IR 4 Hatm ¥

(4) R B, W SR = e A e 25 e e # W S

ﬁﬁﬁwﬁﬁﬁ‘iﬁﬁaﬁmmwaﬂm:

(A) e (1) ot ()

(B) ®as (2) 3l (3)

(C)_F38 (1) =i (2)

(D) Fa (3) 317 (4)

TBC : 21/P1—A 45 P.T.O.




76. Match List T with List IT : :
List 1 | List 11
iz} Gini coefficient (i} @ measure of the energy intensity
of diet composition
(b) PISA score {ii) assesses how far students near the
end of compulsory education have
acquired some of the knowledge
and skills that are essential for full
participation in society
(¢) Human Trophic Level (ifi} measures the extent\to which the
distribution of income among
individuals ar households within
an econgmy deviates from a
perfectly equal distmbution
(@) Palma ratio {iv} \THe-¢hare of all income received
by the 10% people with highest
digposable income divided by the
share of all income received by the
40% people with the lowest
disposable income '
Chocse the correct amswer from the options given below :
o) (b} Je) 7 (d)
(A fa (@) ) (5 ()
B) G i) @ ()
(C) (B ) (i) ([

M Gy @ G ()
TBC : ZL/P/1—A 46




T 1 ® OGS I % e gifan ity

e 1
(ﬂ)ﬁrﬁﬂﬂﬁﬂi
(b) d =R

e} wHa 2w =

(d) WE SR

(£}

(L)

()

Tt 1

HER TOET F w9 dEw oW 0w A
TE FmE w4 ¥ atEd fen @ s
& 9 A Y ww e oM e o
w1 o ® 5w F of s &
WETTE §

B % 6 s o O v sefomaan &
Wi =t @ yhER & st a5 faw
Yt we A Fwm e & featve @@ &
T feedEe T = 10% S R T
it =19 w1 e Ed vy feuivEs am

A 40% = OEm W wt sme el

# fawmfos dm

9 v fwedt W@ wm w1 v st .

ta\ \() (&)
(A )7 @) T,
(B) G (d)
Gl ) )
D) @ D G

TBC : 21/PT—A

{d)

(irr)
(i)
(Eie}

(e}

47

PT.O,




77. Match List I with List II :
List 1

ta) Conglomerate

{h) Golden handshake

ie)  Blue Chip

(ef) Laizser Faire

{1}

Fiy

(afr}

Eer

List 11
The company that has acquired
interest in different industries by
taking over or merging with other
COMPEnies
an economic svstern in which
transactions between private
groups of peeple are frée from any
form of economic inderventionism
an employment Agreement which
states thﬂi't’lm.mﬂptﬁyer will
providesa significant severance
parkage if the employees loses
their job
stock in a stock corporation with
a national reputation for guality
raliability, and the alality to
operate profitably in gum:l' and
bad times

Chonse the eorreet answer from the options given below :

(@) _AB) fe) Ad)

(A) G D LG G

(B), () @Y () (o)

(C) @ i) () (i)

D) Gy G (wd ()
TBC : 2UP1—A

48




TH B g 0D g

=t 0
{a) HEmE

(b) Teen v

) =1 fug

(d) &8 93

Lt

(e}

{#)

(i)

gt 1
% WA o w wefeE w afur
= e w1 fafes winit F e wias
Lol -4 i
ﬁﬂﬁmmwmﬁ%ﬁﬁwﬁf
F w19 -39 Rl ot TR % e wme
H e B R
T AR s (e b oo
mmaﬁﬁirﬁa‘r&ﬂﬁﬁrﬁﬁrﬂmﬁ
e o= W s
T, favEe S e b 9t
T E R wwien 9 w5 aww & g

ﬁﬁqwﬁmﬁiﬁ#nﬂmmwﬁm:

@) &) (e} ()
(AY (@) Gh @ G
- B) @ W M i)
(C) @ @D Gy G
D G @ ) i

78. Day Zero refers to which city as South Africa ?

{A) Johannesburg (B} Durban
(C) Cape Town (1Y) Pretoria
‘iﬁhﬁ‘mmaﬁﬂﬂﬂmiﬁmmﬁt?
(A) Figegan (B) =m
(C) Fuzas (D) st
7. ECOLEX is controlled by
(A) FAO (B) CSD
() UNFECC D) 1PCC
TR T frem %
(A) TETE. = (B) HmmdE =
(C) Zwusstgtad = D) =ttt w
TBC : 21/PAA—A 40 P.T.0.




80. Most of the air pollution that we experience is located in :

{A) Mesosphere iB) Thermosphere
(C) Btratosphere (I} Troposphere
o WEHY w1 siawad feem teietes A @ el ffm b 7
(A) = HEd (B) AmEEe
(C) T (D) siraoEs
Bl. Deep underground reserveir of water are called as :
(A) Karst | (B) Aquifer
(C) Buffer (D) Baseflow
T it WA ® OWIER # =W e #—
(A) =T (B) =Erym
{C) IR (D) +METYE WA
82. Who gave the concept of biodiversity hotspots 7
{A) E. P. Odum {B) Norman Myers
(C) James Lovelock (D) Rachel Garson
Fafafaum glerme ® s fmES G2
(A) % Wi ey (B). i wmEs
(C) w8 FEeE (D), et s
B3. Which of the following sanctuaries’ is not known for tigers 7
(A) Kawal Sanctuary (B) Kaziranga National Park
(C} Dudhwa National Park (I3} Hazaribagh National Park
frafofae 4 4 fFg avanm =) =9 & o = on 9 & 2
(A) HEE ST (B) &M TR A
{C) gy W se (D) =oRmEr T S
B4 When was the process of identifying the key Biodiversity Areas started in India ?
(A} 1872 (B} 2003
(C) 1998 (D} 2007
yiA 0 gE SEiEfEm i w1 UEEEd s Wed we Wi R o 7
(A) 1972 (B) 2003
(C) 1998 (D) 2007

TBC : 21VP1—A 50




85. Match List I with List [T - -

List 1 List II
(Air Pollution Ineident) {(Country)
(@}  Meusa (1930) | {fi  England
(h)  Donora (1948) (i) India
(e} Bhopal (1984) (cif) TUSA
(d) London (1952) (i) Belgium
Choose the correct answer from the options given below :
(@) by (&) (d)
(A) (i) (@) (@) @
(B) G} ) &) G
(C) vy @ Gy (D)
D) (D ) @) @)
T 1w e & faew iR
el 1 w11
(@ weww wm) ()
(e} F7gE (1930) (& NgreiE
(b) EXART (1948) {#) A
(e) WM (1984) (i) EACA
(d) T=1.i1958) (iv)  Sfraay
T GFE R W Iw W W i
@) b)) Ad)
(Al Ge) GE) @ 0
B) v} GE ) )
© @ W @ @
D) &) @) G W

TBC : 2L/PI—A

al ET.O.




86. Match List I with List II : :

List 1 List 11
(Plant Name Local) (State)
i) Toona (i}  Telangana
(k) EKhejri (i)  Manipur
e} Alder (iti) Rajasthan
(d) Jammi {ir} Nagaland

Choose the correct answer from the options given below :
(@ (&) @ @)
(A (i) (e D (i)
(B) GH) G Ger
(C) @y Gvy G D
D) )y ) @ (i)
gt 1w S IR e

et | RIS

(TrET A ¥ (IF)

(@) T (&) ) "
(b) =t (if)  HoigE
(e) wEmt (iii) TR
() {iv} RATE

#= fau W fEeRedt W W WE IW W WgA S
fa)” (B) I} id)
(AY Gy () W i)
(B) fah ) (iw) i)
(C) Y ) B
) G Gw) G i
TBC : 21/PI1—A 52




87. Match List T with List II :

List T List 11
(Sanctuary) (Location)
i) Bhadra @  Jharkhand
(b))  Dalma (#) Tripura
e} Gumti i) West Bengnl
{d) Jaldapara (iv) Karnataka

Choose the correct answer from the options given below :
@) b)) o) (d)
(A () GE @ o)
(B) G@) &) e) @
(C) ) @ G G
Dy )y @) GE G
T g 1A e i

T 1 Tt I1
(3vaTTa) (3 =|T)
(@) i) emEE
(b) B @ fagm
e) 7w (iii) iyedy dmm
(d) e liv) =lzh

ﬂéﬁqwﬁwﬁﬁﬁﬂﬁmmwﬁm:
@ Ab} Ae) Ad)
&) () Gl @ ()
(B) (@) (@ e)
(Crfi0d Ay GO Gid)
D) G @ G G
TBC : 21/P1—A 53 PT.O.




B8. Match List I with List IT : :

List 1

(Wetland)
iz} Deepor Beel
iy Asthamudi

(i}
(i)
(it}

{i)

List IT
(State)
Kerala
Assam
Punjab
Manipur

Choose the correct answer from the options given below :

Tt 1L
(=)
(f) N
() HEH
(gii) o=

() WU

S oo frwed 8 wE IWow I R

{e) Loktak
(d) HKanjali
(e} (b) f(e) (d)
(A ) (G @ L)
(BY G&) (& (@) v}
(Cy ) (@) @ Gv)
(D ey Gy ey )
gl [ et 118 faem s
il |
(F=dE)
(z) =R =i
(h) sTEETEN
(c) wrEs
() iz
() 7 (b} JniE) / ()
(AL () ) A ()
(BY df) G ) (o)
(@)D ) @) ()
I G @ i) (i)

TBC : 2L/P1—A

54
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89. Match List I with List II : -

List I List IT
i (Policy) {Year)
) Wildlife (il 1992
(6} Forest (@) 1872
e}  Environment iff) 1988
id)  Pollution () 2006

Choose the correct answer from the options given below :

@} (b)) {e) ()
(AY () () @) @)
(B} (@) i) ) G
() G Gw) ) (0
D G @ G @
g 1w e 1@ foer =i :

Tt 1 Tet 11

(ufferet) (=)
(g} =g () 1992
(b) & (i} 1972
{e) THIETH (i) 1988
(o) wgEm (iv) « 2006

ﬁﬁqwﬁmﬁﬁﬁnﬁwawwﬁhq:
la) (B (2] (d)
(A) () i) () ()
B @) @ L)
(C)_AGY~ (@0, is) )
(D) ) o) (i
90. Fats are made from edible oils using the process of :

{A) Sapenification (B) Esterification

(C¥ Catalytic hydrogenation (1) Hydrogenation

Mﬁﬁﬁ'ﬁmﬁrﬂmmaﬂﬂmﬁﬂqﬁﬂﬁi:

(A) HifEfFR (B) wdifthsee

(C) warfefew amgiariem . (D) T
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92.

The main precursors of winter smog are :

(A) NoO and hydrocarbons {B) NO, and hydrocarbons
(C) 80, and hydrocarbons (D) 50, and ozone
TieEEA g9 ® gE e ¥ o

(A) NgO iR wgiem (B) NO, 3 gy
(C) 80, 3 eEgEE (D) 80, 3 HrEE
Moat kidney stones are composed of :

(A} Calcium carbonate (B) Calcum oxalate
(C) Magnesium carbonate (D) Magnesium oxalate
s T W uHd FrefetEn @ w0 A9 E

(A) Hfeerm wEre (B) ey sfisoree
(C) i wEiI (D) Eeifirm sl

There are two statements given below :

Statement I : A traveler crossing the international date line from east to west
loses a day. i

Statement II : A traveler erossing the international date line from west to
east gaing a day.

In the light of these two ztatements, chooze the most appropriate answer from
the options given below :

{(A) Both Statement | and Statement [I\are correct

{B) Both Statement I and Statement Il are incorrect

{C) Statement | ig correct and Statement Il is incorrect

(D) Statement I ig incorrect and Statement II is correct

ey 1 @ & ufrew wt < wwisg iy oS w3 9w el o e
2 B

e 1T wiEg & 96 % 3 saery fafg = & 90 % T 9 R T
I EWOEAL B

T O FEE F oA A0 A faw T fawed d @ weifes ST I W W
Hifa ;

(A) ®g [ o e 1196w §

(B89 I 2 wwm 11 26 mem E

(C) w97 | =8 & ofn w57 1 m %

(D) ®u 1 799 & A %A 11w %
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94. There are two statements givén below :

Statement I : Steam produces less severe burns than water at the same
temperature.

Statement Il : Dry ice is colder than regular ice,

In the light of these two statements, choose the most appropriate answer from
the options given below :

(A} Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

{(C} Statement I is correct and Statement I is incorrect

(D) Statement T is incorrect and Statement IT is correct

4 5w fow e &

WO I : Y WA ATHR WO W e W wE st wee e 3
w7 U : TE 9% fafm o9 5t oo 4 586 99 &

™ EH HEA & mﬁﬁﬁqwmﬁﬁﬁmﬁwgﬂwmmw
=Hifan ;

(A) 9 T 3t wom 11 < wlt §

(B) ¥ 1 & F99 11 95 em §

(C) w7 1 & & o w99 I 7o &

(D) FeF [ 7o & 37 w9 0 of 3

Arrange the following electromagnetic waves according to the increasing

frequency :

(1) Gamma rays (2}  X-rays

{3) Radic waves " {4}  Microwaves

(A) (35 (An(27,41) (B) (1), (2, (4}, (3)

(Cy (2), (1%.04), (3 (D) (4), (3), (1), (2)
frsffe frgegme w21 agh sw # s s o
(1% e e (2) wEg-1

(3) | T A (4) W T

(A) (3),.(4), i2), (1) (B) (1), (2), (4), (3)

(C) (2), 1), (4), (3) (D) (4), (3), (1), (2)

TBC : 21/P1—A : 57 P.T.Q.
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08, Arrange the following atmospheric layers in the correct order from the surface
of the earth :

(1} Mesosphere (2} Troposphere

{3) Thermosphere (4) Btratosphere

(A) (2), (4), (3), (1) (B) (4), (2), (3}, (1)

(C) (2), (4), (1), (3) (Dy  (3), (1), (4}, (2)

freafefam sgrede W # 7= S T @ W Fu § =afem 551
(1) FERRER (2) vz

(3) HHTERER (4) HEEE

(A) (2), (4), (3), (1) (B) (4) (2), (3) (1)

(Ch (2), (4), (1), (3} Dy (3} (1 (4], (2)

97. Consider the given four statements and choose the correct answer from the
given options :
{1} A concave mirror is a diverging mirror
{2) Image formed by a concave mirror is generally real and inverted
(3) A convex mirror i a converging mirror
(4) Image formed by a convex mirror 13 always virtual, erect and diminished
(A) (1) and (2) only
(B} (1) and (3) only
(C) (2) and (4) only
(D} (3) and (4) only
fon meR weE @ T wifen sin Bw oy fewed 4 @ wé = g
(1) sEme qin SvEit T B '
(2) e T g S =N wiAatas weedn: Aeaas fd e g R
(3) vwwE e st g den &
(4) Tww Tdm F =y w@on wfafem wdn s, der o g g B
(A) HEE (1) 3R (2) (B) ==t (1) R (@)
(C) #a (2) o (4) (D) Fae (3) 3 (4)
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98, Consider the given four statements about ethanol and choose the correct answer
from the given options :
(1} It is the main constituent of all aleoholie drinks
(2) It is not a good solvent
(3) It is soluble in water in all proportions
(4) It cannot be used as an additive in petrol
(A) (1) and (2) only
(B) (1} and (3) only
(C) {2) and (4) only
(I) (1) and (4) only
Eﬂ'ﬁmﬁﬂﬂﬂfi’qmmﬁﬂﬁfﬁrfﬂﬁﬂﬂﬁdq;ﬁ?ﬁqﬂﬁﬁﬁﬁﬁnﬁm
gtd .
(1) 7& T ARF 4 & 957 v &
(2 % TF s faomw w4 &
(3) W Wit AT F e e
(4) aﬁrﬁ@ﬁﬁiﬁgﬁa%mﬁsﬁmﬁﬂﬁﬁmmm%
(A) F5711) i (2)
(B) =t (1) 3h (3)
(C) F=a (@) #h (4)
D) F&5 (1) 2R (4)
TBC : 21/P1—A 59 ET.O.




99, Match List I with List IT and choose the correct answer from the given options :

List

|

{Acid)
(a) Ascorbic acid

(b) Malic acid

(¢) Formic acid

{d) Tartaric acid

Codes :
(a)
(A L)
(B) (i)
(C) (v
D) {w)

(b}
(eL)
(idi)
(1)
{2i)

(el
(i)
(£
(i)
(e

(ef}
(£
()
(e}

(iz)

List II
{Source)
() Apples and pears
(&) Ant stings
it} Tamarind and grapes

@) All citrue fruits

et 1w o 1@ gl st efw R o faec F @ Wl ST

et 1
(37E)

() TRl a7

by e s
(e} TFIfgF =0
(d) I A

wE
fa}
(&) (i)
(B) " fiv)
(C) !
(M vl
TBC : 21/PI—-A
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(HE)
(i)
(i)

(fi)

e}
{iv)
Liz}
(E)
(£}

id}
i)
()
(i)
{£0)

et Il

(i)
(i) = A mrrqﬁﬂ
iy i w1 OEF
(iii) gt s S
() B EmE T




100. Match List I with List I and choose'the correct answer from the given options :

List

I

ta) Hydrophone

(b)  Megaphone

(e} Anemometer

. List II
i} An instrument measuring the
rotation speed of a shaft or disk
(i) Aninstrument that measures wind
speed
() An instrument that spreads sound
to far-off places

(d} Tachometer (i) An underwater deviee that detects
and records ocean sounds from all
directions

Codes -

el (b)) {e) (d)

(A) (i) G () D

(BY &} 5 D G

WGy @ @ G (6D

(D} (o) GE) @) (@D

ﬂiﬂlm‘rﬁruﬂﬁﬁﬁmaﬁﬁqaﬂtﬁqﬂqfﬁwﬁﬁﬁnﬂmqﬁq:

et 1 T M

la) EESIE @ wre o %t golr vt @ wed oA
VEeL Ty

(b) TTEE @) TF IUH S g F oty o 2

{e) e (lir) UF UM W g-7X A% wfy Femm &

(d) e ) T # AR W T I W wt feemei
® TR F A w1 v wme # AR e
Las

wE ;

@) @by ey ()

(A () @0 @ o

(B) @) @ 6D i)

CL @AY (@) i

D) e () D @
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SPACE FOR ROUGH WORK
e W @ o T
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SPACE FOR ROUGH WORK
F= W & faw wmm
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